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16 15  15  

&5>D5F<G5E>>5 <7GG5=<5. �D<F5D<< M>>=><<G5E>>= MDD5>F<6=>EF< 

?D< D5L5=<< ?D>5>F=OE 7444G. '<EFO= 4<E>>=F<D>64==O= 4>E>4. �=45>E 

4>E>4=>EF<. %D>> >>G?45<>EF<. �O?>?=5=<5 D4EG5F>6 [1  

24 64  68  

&5>D5F<G5E>>5 <7GG5=<5. &5>GM<5 < >?5D4F<6=O5 7444G<.  �D<<5DO 

D5L5=<O F5>GM<E < >?5D4F<6=OE 7444G. �F5=>4 7D4=<G=>7> >>MDD<F<5=F4 

6E>DOL< =4 EF44<< ?D54?D>5>F=OE <EE?54>64=<= [1 - 3] 

28 124  128  

  

5 $>=4 >F5=>G=OE ED54EF6 4?O ?D>6545=<O ?D><56GF>G=>= 4FF5EF4F<< >5GG4NM<EEO ?> 

4<EF<??<=5 "->>=><<G5E>>5 >5>E=>64=<5 F5E=>?>7<G5E><E D5L5=<= =4 >4DL5D4E", EFDG>FGD<D>64==>5 

?> D4745?4< (F5<4<) 

5.1. �4E?>DF D>=44 >F5=>G=OE ED54EF6 

�4<<5=>64=<5 

D 4 7 4 5 ? > 6 

4<EF<??<=O 

%>45D64=<5 (F5<O) 

D4745?4 

� > 4 

>><?5F5=F<< 

�=4=<O, G<5=<O, 

= 4 6 O > < , 

=5>5E>4<<O5 4?O 

D > D < < D > 6 4 = < O 

E>>F65FEF6GNM5= 

>><?5F5=F<< 

$>D<4 F5>GM57> >>=FD>?O 

7=4=<=, G<5=<=, =46O>>6, 

=5>5E>4<<OE 4?O 

D > D < < D > 6 4 = < O 

E>>F65FEF6GNM5= 

>><?5F5=F<< 
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' 4 5 ? L = O 5 
74FD4FO ?> 
6<44< D45>F =4 
D47D575 
  

  

  

  

  

  

  

' 4 5 ? L = O 5 
74FD4FO ?D< 
M>E??G4F4F<< 
>5>DG4>64=< 

  

  

  

  

�=F57D4?L74O 
MDD5>F<6=>EFL 
M>E??G4F4F<< 
D47D574 
  

� 4 F D 4 F O  = 4 
6 O ? > ? = 5 = < 5 
>E=>6=OE 6<4>6 
D45>F. �E=>6=O5 
6<4O D45>F =4 
D47D574E. '45?L=O5 
7 4 F D 4 F O  = 4 
6 O ? > ? = 5 = < 5 
>E=>6=OE 6<4>6  
D 4 5 > F . 
$4E?D545?5=<5 
F5>GM<E 74FD4F ?> 
>E=>6=O< 6<44< 
D45>F. 
$4EG5F 74FD4F =4  
M > E ? ? G 4 F 4 F < N 
>5>DG4>64=<O 
 (=4 5 4 < = < F G 
6 O ? > ? = 5 = = > = 

D45>FO, <4L<=>G4E, 
<4L<=>E<5=4) 
  

  

  

�D>5>F=O5 7444G<  

7 > D = > 7 >  

? D > < 7 6 > 4 E F 6 4 . 

�<E>>=F<D>64=<5 7 4 

F D 4 F . 

->>=><<G5E>4O,  

5 N 4 6 5 F = 4 O 

 <  

> > < < 5 D G 5 E > 4 O 

MDD5>F<6=>EFL 

��-4, ���-8, 

��-13, ��-19 

�=4FL <5F>4>?>7<N  
M > > = > < < G 5 E > > = 
 > F 5 = > < 
F5E=>?>7<G5E><E 
D5L5=<=, <5F>4O  
< 4 D > 5 F < = 7 > 6 O E 
<EE?54>64=<=,  
<5F>4O D47D45>F>5 
?D>5>F=OE  ?>  
D 4 7 D 4 5 > F > 5 
<==>64F<>==OE 
D5L5=<=, <5F>4O  
> > < ? ? 5 > E = > 7 > 
 > 5 > E = > 6 4 = < O 
>F>DOFOE 7>D=OE D45>F 
'<5FL <E?>?L7>64FL 

< 5 F > 4 > ? > 7 < N 
 M > > = > < < G 5 E > > = 
> F 5 = > < 
F5E=>?>7<G5E><E 
 D 5 L 5 = < = ,  
6 O ? > ? = O F L  
< 4 D > 5 F < = 7 > 6 O 5 
< E E ? 5 4 > 6 4 = < O , 
EF46<F 7444G< ?>  

D 4 7 D 4 5 > F > 5 
<==>64F<>==OE  
D 5 L 5 = < = ,  
6 O ? > ? = O F L  
> > < ? ? 5 > E = > 5  
> 5 > E = > 6 4 = < 5 
>F>DOFOE 7>D=OE D45>F 
�?445FL =46O>4<< 
 < E ? > ? L 7 > 6 4 = < O 
< 5 F > 4 > ? > 7 < <  
M > > = > < < G 5 E > > = 
 > F 5 = > < 
F5E=>?>7<G5E><E 
D5L5=<=, =46O>4<<  
6 O ? > ? = O F L 
 < 4 D > 5 F < = 7 > 6 O 5 
< E E ? 5 4 > 6 4 = < O , 
 7 > F > 6 = > E F L N  
6 O ? > ? = O F L  
> > < ? ? 5 > E = > 5 
 > 5 > E = > 6 4 = < 5 
>F>DOFOE 7>D=OE D45>F 

1 . � ? D > E  ? > 
 > E = > 6 = O < 
?>=OF<O< F5>D<< 

 2 . � > = F D > ? L  

> E 6 > 5 = < O 

 ? D 4 > F < G 5 E > > =  

G 4 E F < > G D E 4  

3 . � O ? > ? = 5 = < 5 

<=4<6<4G4?L=OE 7444=<=. 

4.$5L5=<5 F5EF>6OE 

7444=<= 

5.2. &<?>6O5 >>=FD>?L=O5 7444=<O <?< <=O5 <4F5D<4?O 

  �D>7D4<<4 ?>47>F>6>< <EE>4=OE 44==OE 4?O ?D4>F<G5E><E 7444=<=.xls 

5.2.1.�F5=>G=O5 ED54EF64 ?D< F5>GM5< >>=FD>?5 

%F5?5=L 6O?>?=5=<O D4EG5F>6 6 E>>F65FEF6<< E <5F>4<G5E><<< G>474=<O<<. �>E5M45<>EFL. 

5.2.2 �F5=>G=O5 ED54EF64 ?D< ?D><56GF>G=>= 4FF5EF4F<< 

&5EFO < >><?LNF5D=>5 F5EF<D>64=<5 

### 3 5657>4=O5 >FG<E?5=<O =4 6>EEF4=>6?5=<5 >E=>6=OE D>=4>6 

�<>DF<74F<O 
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### 3 54<=>6D5<5==O= 67=>E 74 ?D46> 4>5OG< =4 6=>6L >E64<645<OE <5EF>D>645=<OE �>=GE 

  

### 3?D<5<?5<4O 4?O <=65EF>D4 =>D<4 4>E>44 =4 >4?<F4? 

�<E>>=F 

  

### 3 M?5<5=F E555EF><<>EF< 4>5OG< G7?O, >>F>DO= 6>?NG45F 6 E55O 74?4E=O5 G4EF<, ��, �%�, 

E?5F>4564G < F.4. 

�4F5D<4?O 

  

### 3 >F=>L5=<5 EG<<O ?D<6545==OE MDD5>F>6 > EG<<5 4<E>>=F<D>64==OE >4?<F4?L=OE 6?>65=<5 

�=45>E 4>E>4=>EF<, D5=F455?L=>EFL >4?<F4?L=OE 6?>65=<= 

  

### 3 F4>4O =>D<4 4<E>>=F4 ?D< >>F>D>= EG<<4 ?D<6545==OE MDD5>F>6 D46=4 EG<<5 ?D<6545==OE 

>4?<F4?L=OE 6?>65=<= 

�=GFD5==OO =>D<4 4>E>4=>EF< 

  

### 3 <<=<<4?L=O= 6D5<5==>= <=F5D64? (>F =4G4?4 >EGM5EF6?5=<O ?D>5>F4), 74 ?D545?4<< >>F>D>7> 

G<EFO= 4<E>>=F<D>64==O= 4>E>4 EF4=>6<FEO ?>?>6<F5?L=O<. 

%D>> >>G?45<>EF< 

  

�?O ?>6OL5=<O MDD5>F<6=>EF< ?D>5>F4 74FD4FO F5?5E>>5D47=> >F=>E<FL 

1. =4 5>?55 ?>74=<= ?5D<>4 

2. =4 5>?55 D4==<= ?5D<>4 

3. =4 F5>GM<= ?5D<>4 6D5<5=< 

4. =4 ?N5>= ?5D<>4 6D5<5=< 

�D46<?L=O= >F65F: =4 5>?55 ?>74=<= ?5D<>4 

  

�?O ?>6OL5=<O MDD5>F<6=>EF< ?D>5>F4 ?>?GG5=<5 4>E>4>6 F5?5E>>5D47=> ??4=<D>64FL 

1. 6 5>?55 D4==<= ?5D<>4 

2. 6 5>?55 ?>74=<= ?5D<>4 

3. D46=><5D=> 6 F5G5=<5 ??4=>6>7> ?5D<>444.      =4 ?N5>= ?5D<>4 6D5<5=< 

�D46<?L=O= >F65F: 6 5>?55 D4==<= ?5D<>4 

  

�>E?54>64F5?L=>EFL MF4?>6 ?D< D5L5=<< ?D>5>F=OE 7444G 7>D=>7> ?D><76>4EF64 �D46<?L=O= >F65F: 

1. ?D54?D>5>F=O5 <EE?54>64=<O; 

2. F5E=<>>-M>>=><<G5E><5 <EE?54>64=<O <=65EF<F<>==OE 6>7<>6=>EF5=; 

3. D47D45>F>4 ?D>5>F4 <?< F5E=<>>-M>>=><<G5E>>5 >5>E=>64=<5; 

4. ?>47>F>6>4 D45>G5= 4>>G<5=F4F<<, 6>?NG4O D4EG5FO E<5F < 4DG7<5 D45>G<5 4>>G<5=FO; 

5. M>>=><<G5E><5 D4EG5FO 6 ?D>5>F5, 4 F4>65 <E >>DD5>F<D>6>4 6 ?D>F5EE5 EFD><F5?LEF64 < 

M>E??G4F4F<< >5N5>F4. 

%>>F65FEF6<5 <564G MF4?4<< D5L5=<O ?D>5>F=OE 7444G < 6O?>?=O5<>= 6 ?D545?4E MF4?4 D45>F>= 

�D54?D>5>F=O5 <EE?54>64=<O; �5>E=>64=<5 ?D>5>F4 75<5?L=>7> >F6>44 

&5E=<>>-M>>=><<G5E><5 <EE?54>64=<O <=65EF<F<>==OE 

6>7<>6=>EF5=; 

�5>E=>64=<5 <EF>G=<>4 <=65EF<F<= 

$47D45>F>4 ?D>5>F4 <?< F5E=<>>-M>>=><<G5E>>5 >5>E=>64=<5; �5>E=>64=<5 F5E=<G5E><E D5L5=<= ?D< 

D47D45>F>5 <5EF>D>645=<O 

�>47>F>6>4 D45>G5= 4>>G<5=F4F<< $4EG5F E<5F 

->>=><<G5E><5 D4EG5FO 6 ?D>5>F5 $4EG5F <=45>E4 4>E>4=>EF< 

�>F>>< 45=56=OE ED54EF6 ?D< >?D545?5=<< MDD5>F<6=>EF< ?D>5>F=OE 7444G 7>D=>7> ?D><76>4EF64 

5O64NF 

1. ?>?>6<F5?L=O5 

2. >FD<F4F5?L=O5 

3. E<5L4==O5 

4. >><??5>E=O5 

�D46<?L=O= >F65F: ?>?>6<F5?L=O5, >FD<F4F5?L=O5 
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�><<5DG5E>4O MDD5>F<6=>EFL ?D>5>F4 E4D4>F5D<7G5F D<=4=E>6O5 ?>E?54EF6<O 57> D54?<74F<< 6 

<4ELF454E 

1. >F45?L=>7> ?D54?D<OF<O 

2. G7?54>5O64NM57> D4=>=4 

3. EG5N5>F4 D545D4F<< 

4. EFD4=O 6 F5?>< 

�D46<?L=O= >F65F: >F45?L=>7> ?D54?D<OF<O 

%>>F65FEF6<5 <564G 6<4>< ?>>4 45=56=OE ED54EF6 < 6<4>< 45OF5?L=>EF< ?D54?D<OF<O ?D< >F5=>5 

>><<5DG5E>>= 45OF5?L=>EF< ?D>5>F4 �D46<?L=O= >F65F: 

�ODGG>4 >F D54?<74F<< G7>?L=>= ?D>4G>F<< �?5D4F<>==4O 45OF5?L=>EFL 

�4?<F4?L=O5 74FD4FO =4 ?D<>5D5F5=<5 7>D=>-FD4=E?>DF=>7> 

>5>DG4>64=<O 

�=65EF<F<>==4O 45OF5?L=>EFL 

�D54<FO $<=4=E>64O 45OF5?L=>EFL 

  

5.2.3. �5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 7=4=<=, G<5=<=, 

=46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<5 MF4?O D>D<<D>64=<O >><?5F5=F<= 

�E=>6=>= GG55=>= D45>F>= EFG45=F4 O6?O5FEO ?>E5M5=<5 4G4<F>D=OE 74=OF<= < E4<>EF>OF5?L=4O 

D45>F4 6 F5G5=<5 E5<5EFD4. �4G<=4FL <7GG5=<5 4<EF<??<=O =5>5E>4<<> E >7=4>><?5=<O E F5?O<< < 

7444G4<< 4<EF<??<=O < 7=4=<O<< < G<5=<O<<, ?D<>5D5F45<O-<< 6 ?D>F5EE5 <7GG5=<O. �E5 =5OE=O5 6>?D>EO 

?> 4<EF<??<=5 EFG45=F <>65F D47D5L<FL =4 >>=EG?LF4F<OE, ?D>6>4<<OE ?> D4E?<E4=<N. �D< ?>47>F>6>5 > 

?45>D4F>D=O< 74=OF<O< EFG45=F 6 >5O74F5?L=>< ?>DO4>5 <7GG45F F5>D5F<G5E><= <4F5D<4? 6 E>>F65FEF6<< E 

?5>F<O<<. �D< ?>47>F>6>5 > F5>GM5<G >>=FD>?N =5>5E>4<<> 74>D5?<FL F5>D5F<G5E><5 7=4=<O ?> F5<4<, 

<7GG5==O< 74 ?>E?54=<= <5EOF. �4?>7>< GE?5L=>7> < E6>56D5<5==>7> 6O?>?=5=<O >GDE>6>7> ?D>5>F4 

O6?O5FEO D57G?OD=>5 ?>E5M5=<5 >>=EG?LF4F<= < ??4=><5D=>5 6O?>?=5=<5 D4745?>6 6 F5G5=<< E5<5EFD4. 

  

6 �5D5G5=L >E=>6=>= < 4>?>?=<F5?L=>= GG55=>= ?<F5D4FGDO, =5>5E>4<<>= 4?O >E6>5=<O 

4<EF<??<=O "->>=><<G5E>>5 >5>E=>64=<5 F5E=>?>7<G5E><E D5L5=<= =4 >4DL5D4E" 

6.1 �E=>6=4O ?<F5D4FGD4 

1. %OE>56, �. �. �5>E=>64=<5 F5E=>?>7<G5E><E D5L5=<= =4 D47D574E [&5>EF] : GG55=>5 ?>E>5<5 4?O 
EFG45=F>6 6G7>6, >5GG4NM<EEO ?> =4?D46?5=<N ?>47>F>6>< (E?5F<4?L=>EF<) "�>D=>5 45?>" (E?5F<4?<74F<O 
«�F>DOFO5 7>D=O5 D45>FO») / �. �. %OE>56, �. �. �<F6<=, /. �. �<F6<= ; $���' ��� «�G754E. 7>E. F5E=. G=- F 
<<. &. $. �>D54G564», �4D. >F>DOFOE 7>D=. D45>F. 3 �5<5D>6> : �744F5?LEF6> �G7�&', 2015. 3 126 E. 3 
�>EFG?=4 M?5>FD>==4O 65DE<O: http://library.kuzstu.ru/meto.php?n=91280&type=utchposob:common  

2. %OE>56, �. �. �=65=5D=>-M>>=><<G5E><5 D4EG5FO ?D< >5>E=>64=<< F5E=>?>7<G5E><E D5L5=<= =4 
D47D574E [-?5>FD>==O= D5EGDE] : GG55=>5 ?>E>5<5 4?O EFG45=F>6 =4?D46?5=<O ?>47>F>6>< 130400 "�>D=>5 
45?>" E?5F<4?<74F<< "�F>DOFO5 7>D=O5 D45>FO" / �. �. %OE>56, �. �. �<F6<=, /. �. �<F6<=; $���' ��� 
«�G754E. 7>E. F5E=. G=-F <<. &. $. �>D54G564», �4D. >F>DOFOE 7>D=. D45>F. 3 �5<5D>6> : �744F5?LEF6> �G7�&', 
2015. 3 127 E.1 M?5>FD>=. >?F. 4<E> (CD-ROM) 3 �>EFG?=4 M?5>FD>==4O 65DE<O: 
http://library.kuzstu.ru/meto.php?n=91271&type=utchposob:common 

 
6.2 �>?>?=<F5?L=4O ?<F5D4FGD4 

 

1. �E<?>64 �. �., �47<<<DE>4O &. �. ->>=><<>4 < <5=546<5=F 7>D=>7> ?D><76>4EF64 (M?5>FD>==O= D5EGDE): GG55. 
?>E>5<5 [4?O EFG45=F>6 E?5F. 130405 «�5>74M5=<5 ?>?57=. <E>>?4- 5<OE», 130404 «�>475<. D47D45>F>4 
<5EF>D>645=<= ?>?57. <E>>?45<OE», 130403 «�F>DOFO5 7>D=O5 D45>FO», 150402 «�>D=. <4L<=O < 
>5>DG4>64=<5», 130402 «�4D>L5=4. 45?>», 130401 «$<7. ?D>F5EEO 7>D=. ?D-64»] / �.�. �E<?>64, &.�. 
�47<<<DE>4O; ��' ��� «�G754E. 7>E. F5E=. G=-F». 3 �5<5D>6>, 2009. 3 136 E. 
http://library.kuzstu.ru/meto.php?n=90374&type=utchposob:common 

2. %OE>56, �.�. �=65=5D=>-M>>=><<G5E><5 D4EG5FO 4?O >F>DOFOE 7>D=OE D45>F [-?5>FD>==O= D5EGDE]: GG55. 
?>E>5<5 4?O EFG45=F>6 6G7>6, >5GG4NM<EEO ?> E?5F<4?L=>EF< "�F>DOFO5 7>D=O5 D45>FO" =4?D46?5=<O 
?>47>F>6>< "�>D=>5 45?>" / ��' ��� "�G754E. 7>E. F5E=. G=- F". 3 �5<5D>6>, 2005. 3 179 E. 
http://library.kuzstu.ru/meto.php?n=90289&type=utchposob:common 

3. �E<?>64, �.�. ->>=><<>4 < <5=546<5=F 7>D=>7> ?D><76>4EF64: GG55.  ?>E>5<5 / �.�. �E<?>64, &.�. 
�47<<<DE>4O; �' �G7�&'. 3 �5<5D>6>, 2009. 3 136 E. 

4. %OE>56, �.�. �=65=5D=>-M>>=><<G5E><5 D4EG5FO 4?O >F>DOFOE 7>D=OE D45>F: GG55=>5 ?>E>5<5 / �.�. %OE>56. - �' 

�G7�&'. 3 �5<5D>6>, 2005. - 179 E. 
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7 �5D5G5=L D5EGDE>6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» 

�D<F<4?L=O= E4=F �G754EE>>7> 7>EG44DEF65==>7> F5E=<G5E>>7> G=<65DE<F5F4 <<5=< &. $. �>D54G564. 
$56<< 4>EFG?4: www.kuzstu.ru.  
�D<F<4?L=O= E4=F D<?<4?4 �G7�&'  6 7. �5?>6>. $56<< 4>EFG?4: http://belovokyzgty.ru 
 
8 �5F>4<G5E><5 G>474=<O 4?O >5GG4NM<EEO ?> >E6>5=<N 4<EF<??<=O "->>=><<G5E>>5 

>5>E=>64=<5 F5E=>?>7<G5E><E D5L5=<= =4 >4DL5D4E" 

�E=>6=>= GG55=>= D45>F>= EFG45=F4 O6?O5FEO ?>E5M5=<5 4G4<F>D=OE 74=OF<= < E4<>EF>OF5?L=4O 

D45>F4 6 F5G5=<5 E5<5EFD4. �4G<=4FL <7GG5=<5 4<EF<??<=O =5>5E>4<<> E >7=4>><?5=<O E F5?O<< < 

7444G4<< 4<EF<??<=O < 7=4=<O<< < G<5=<O<<, ?D<>5D5F45<O-<< 6 ?D>F5EE5 <7GG5=<O. �E5 =5OE=O5 6>?D>EO 

?> 4<EF<??<=5 EFG45=F <>65F D47D5L<FL =4 >>=EG?LF4F<OE, ?D>6>4<<OE ?> D4E?<E4=<N. �D< ?>47>F>6>5 > 

?45>D4F>D=O< 74=OF<O< EFG45=F 6 >5O74F5?L=>< ?>DO4>5 <7GG45F F5>D5F<G5E><= <4F5D<4? 6 E>>F65FEF6<< E 

?5>F<O<<. �D< ?>47>F>6>5 > F5>GM5<G >>=FD>?N =5>5E>4<<> 74>D5?<FL F5>D5F<G5E><5 7=4=<O ?> F5<4<, 

<7GG5==O< 74 ?>E?54=<= <5EOF. �4?>7>< GE?5L=>7> < E6>56D5<5==>7> 6O?>?=5=<O >GDE>6>7> ?D>5>F4 

O6?O5FEO D57G?OD=>5 ?>E5M5=<5 >>=EG?LF4F<= < ??4=><5D=>5 6O?>?=5=<5 D4745?>6 6 F5G5=<< E5<5EFD4. 

9 �5D5G5=L <=D>D<4F<>==OE F5E=>?>7<=, <E?>?L7G5<OE ?D< >EGM5EF6?5=<< >5D47>64F5?L=>7> 

?D>F5EE4 ?> 4<EF<??<=5 "->>=><<G5E>>5 >5>E=>64=<5 F5E=>?>7<G5E><E D5L5=<= =4 >4DL5D4E", 

6>?NG4O ?5D5G5=L ?D>7D4<<=>7> >55E?5G5=<O < <=D>D<4F<>==OE E?D46>G=OE E<EF5< 

�?O <7GG5=<O 4<EF<??<=O <>65F <E?>?L7>64FLEO E?54GNM55 ?D>7D4<<=>5 >55E?5G5=<5:  
1. ESET Remote Administrator 6   
2. Libre Office   
3.Mozilla Firefox  

 

10 �?<E4=<5 <4F5D<4?L=>-F5E=<G5E>>= 547O, =5>5E>4<<>= 4?O >EGM5EF6?5=<O 

>5D47>64F5?L=>7> ?D>F5EE4 ?> 4<EF<??<=5 "->>=><<G5E>>5 >5>E=>64=<5 F5E=>?>7<G5E><E D5L5=<= 

=4 >4DL5D4E" 

�?O >EGM5EF6?5=<O >5D47>64F5?L=>7> ?D>F5EE4 ?> 44==>= 4<EF<??<=5 =5>5E>4<<4 E?54GNM4O 

<4F5D<4?L=>-F5E=<G5E>4O 5474: 

-'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4, 74=OF<= E5<<=4DE>>7> F<?4, >GDE>6>7> 

?D>5>F<D>64=<O (6O?>?=5=<O >GDE>6OE D45>F), 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> 

>>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<< 7310, >E=4MU==4O <G?LF<<54<==O< >5>DG4>64=<5<: �D>5>F>D 

Mitsubishi XD250U, <4>E<<4?L=>5 D47D5L5=<5 1024x768. 

�>GF5G> Acer Extensa 5230E 15.4 4N=<>6O= M>D4=, 2 ��F F4>F>64O G4EF>F4 , 2 �5 ��', 256 �5 

6<45>?4<OFL. �D>7D4<<=>5 >55E?5G5=<5: Microsoft Windows7, ?4>5FO  Office 2007 < 2010.�D>7D4<<=O= 

>><??5>E Smart  4?O <=F5D4>F<6=OE >><??5>F>6. 

- �?O E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO <E?>?L7G5FEO =4GG=>-F5E=<G5E>4O 5<5?<>F5>4, 

>><?LNF5D=O= >?4EE 7207, >E=4MU==O5 >><?LNF5D=>= F5E=<>>= E ?>4>?NG5=<5< > E5F< «�=F5D=5F» < 

4>EFG?>< 6 M?5>FD>==GN <=D>D<4F<>==> - >5D47>64F5?L=GN ED54G D<?<4?4. 

 

11 �=O5 E6545=<O < (<?<) <4F5D<4?O 

�D< >EGM5EF6?5=<< >5D47>64F5?L=>7> ?D>F5EE4 ?D<<5=ONFEO E?54GNM<5 >5D47>64F5?L=O5 

F5E=>?>7<<: 
- FD44<F<>==4O E <E?>?L7>64=<5< E>6D5<5==OE F5E=<G5E><E ED54EF6;    
- <=F5D4>F<6=4O.  
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%?<E>> ?<F5D4FGDO ?> 4<EF<??<=5 «->>=><<G5E>>5 >5>E=>64=<5 F5E=<G5E><E D5L5=<= =4 >4DL5D4E» 
?> E>EF>O=<N =4 01.12.2017 7. 

 
�E=>6=4O ?<F5D4FGD4: 

1. %OE>56, �. �. �5>E=>64=<5 F5E=>?>7<G5E><E D5L5=<= =4 D47D574E [&5>EF] : GG55=>5 ?>E>5<5 4?O 
EFG45=F>6 6G7>6, >5GG4NM<EEO ?> =4?D46?5=<N ?>47>F>6>< (E?5F<4?L=>EF<) "�>D=>5 45?>" (E?5F<4?<74F<O 
«�F>DOFO5 7>D=O5 D45>FO») / �. �. %OE>56, �. �. �<F6<=, /. �. �<F6<= ; $���' ��� «�G754E. 7>E. F5E=. G=- F 
<<. &. $. �>D54G564», �4D. >F>DOFOE 7>D=. D45>F. 3 �5<5D>6> : �744F5?LEF6> �G7�&', 2015. 3 126 E. 3 
�>EFG?=4 M?5>FD>==4O 65DE<O: http://library.kuzstu.ru/meto.php?n=91280&type=utchposob:common  
2. %OE>56, �. �. �=65=5D=>-M>>=><<G5E><5 D4EG5FO ?D< >5>E=>64=<< F5E=>?>7<G5E><E D5L5=<= =4 
D47D574E [-?5>FD>==O= D5EGDE] : GG55=>5 ?>E>5<5 4?O EFG45=F>6 =4?D46?5=<O ?>47>F>6>< 130400 "�>D=>5 
45?>" E?5F<4?<74F<< "�F>DOFO5 7>D=O5 D45>FO" / �. �. %OE>56, �. �. �<F6<=, /. �. �<F6<=; $���' ��� 
«�G754E. 7>E. F5E=. G=-F <<. &. $. �>D54G564», �4D. >F>DOFOE 7>D=. D45>F. 3 �5<5D>6> : �744F5?LEF6> �G7�&', 
2015. 3 127 E.1 M?5>FD>=. >?F. 4<E> (CD-ROM) 3 �>EFG?=4 M?5>FD>==4O 65DE<O: 
http://library.kuzstu.ru/meto.php?n=91271&type=utchposob:common 

 

�>?>?=<F5?L=4O ?<F5D4FGD4: 

1. �E<?>64 �. �., �47<<<DE>4O &. �. ->>=><<>4 < <5=546<5=F 7>D=>7> ?D><76>4EF64 (M?5>FD>==O= 
D5EGDE): GG55. ?>E>5<5 [4?O EFG45=F>6 E?5F. 130405 «�5>74M5=<5 ?>?57=. <E>>?4- 5<OE», 130404 «�>475<. 
D47D45>F>4 <5EF>D>645=<= ?>?57. <E>>?45<OE», 130403 «�F>DOFO5 7>D=O5 D45>FO», 150402 «�>D=. <4L<=O 
< >5>DG4>64=<5», 130402 «�4D>L5=4. 45?>», 130401 «$<7. ?D>F5EEO 7>D=. ?D-64»] / �.�. �E<?>64, &.�. 
�47<<<DE>4O; ��' ��� «�G754E. 7>E. F5E=. G=-F». 3 �5<5D>6>, 2009. 3 136 E. 
http://library.kuzstu.ru/meto.php?n=90374&type=utchposob:common 

2. %OE>56, �.�. �=65=5D=>-M>>=><<G5E><5 D4EG5FO 4?O >F>DOFOE 7>D=OE D45>F [-?5>FD>==O= D5EGDE]: 
GG55. ?>E>5<5 4?O EFG45=F>6 6G7>6, >5GG4NM<EEO ?> E?5F<4?L=>EF< "�F>DOFO5 7>D=O5 D45>FO" =4?D46?5=<O 
?>47>F>6>< "�>D=>5 45?>" / ��' ��� "�G754E. 7>E. F5E=. G=- F". 3 �5<5D>6>, 2005. 3 179 E. 
http://library.kuzstu.ru/meto.php?n=90289&type=utchposob:common 

3. �E<?>64, �.�. ->>=><<>4 < <5=546<5=F 7>D=>7> ?D><76>4EF64: GG55.  ?>E>5<5 / �.�. �E<?>64, &.�. 
�47<<<DE>4O; �' �G7�&'. 3 �5<5D>6>, 2009. 3 136 E. 
4. %OE>56, �.�. �=65=5D=>-M>>=><<G5E><5 D4EG5FO 4?O >F>DOFOE 7>D=OE D45>F: GG55=>5 ?>E>5<5 / �.�. 
%OE>56. - �' �G7�&'. 3 �5<5D>6>, 2005. - 179 E. 
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